
 1

 
Novel multiple acidic ionic liquids: catalysts for 

environmentally friendly benign synthesis of 

trans-β-nitrostyrenes under solvent-free conditions 

Anguo Ying,
 
†

,
 * Songlin Xu,

 
‡ Shuo Liu,

 
‡ Yuxiang Ni,

 
‡ Jianguo Yang,

 
† Chenglin Wu

 
† 

† School of Pharmaceutical and Chemical Engineering, Taizhou University, Taizhou 318000, 

People’s Republic of China 

‡ School of Chemical Engineering and Technology, Tianjin University, Tianjin 300072, 

People’s Republic of China 

  

1. Henry reaction of various aldehydes and nitroalkanes catalyzed by [SFHEA][HSO4] (page 2-4) 

2. FT-IR, NMR spectral and elemental analysis data of four novel ILs (page 5) 

3. Representative 
1
H NMR, Mass spectra and elemental analysis of products (page 6) 

4. Copies of 
1
H and 

13
C NMR of the novel ionic liquids (page 7-10) 

5. Copies of 
1
H NMR of the nitrostyrenes in Table 1 (page 11-21) 

6. References (page 22-23) 

 

 

 

 

 

 

                                                        
  * Corresponding authors. Tel/fax: +86 576 88660359.  

E-mail address:yinganguo@163.com or agying@tzc.edu.cn (A. Ying) 



 2

1.Table 1 Henry reaction of various aldehydes and nitroalkanes catalyzed by [SFHEA][HSO4]
a
. 

Entry Aldehyde Nitroalkane 

Time 

(h) 

Product 

Yield 

(%)b 

Mp (℃)/Lit. 

1 4-O2N-C6H4- CH3NO2 1.5 

NO2
O2N

 

89 198-200/201
1
 

2 3-O2N-C6H4- CH3NO2 2.0 

NO2

O2N  

84 124-126/122-125
2
 

3 4-F-C6H4- CH3NO2 1.5 
NO2

F

 

88 

99-102/101-102.5

1
 

4 4-F3C-C6H4- CH3NO2 1.0 

NO2
F3C

 

93 90-91/89-91
3
 

5 4-Cl-C6H4- CH3NO2 2.0 

NO2
Cl

 

90 110-112/113-114
4
 

6 2-Cl-C6H4- CH3NO2 2.5 

NO2

Cl  

92 47-49/47
5
 

7 4-Me-C6H4- CH3NO2 5.0 
NO2

 

83 103-105/103
6
 

8 4-MeO-C6H4- CH3NO2 3.0 
NO2

MeO

 
95 85-88/84-86

6
 

9 2-MeO-C6H4- CH3NO2 3.0 

NO2

OMe  

88 51-53/50
7
 

10 3-MeO-C6H4- CH3NO2 3.5 

NO2

MeO

 

90 91/91-92
8
 

11 

3,4-(MeO) 

2-C6H4- 

CH3NO2 4.0 

NO2
MeO

MeO

86 140-142/142
9
 



 3

 

12 

4-Me2N-C6H4

- 

CH3NO2 5.0 

N

Me2N

 

98 183/182-183
10

 

13 4-HO-C6H4- CH3NO2 5.0 

NO2
HO

 

85 168/167-168
11

 

14 

3-MeO,4-HO-

C6H3- 

CH3NO2 3.5 

NO2
HO

MeO

 

83 

163-165/166-168
1

2
 

15 2-Naphthyl- CH3NO2 4.0 
NO2

 

96 86/84-86
13

 

16 2-Thienyl- CH3NO2 2 

S

NO2

 

87 78-80/79-80
14

 

17 

3-Methyl-2-th

ienyl- 

CH3NO2 3.5 

S

NO2

 

81 63-64 

18 2-Furyl- CH3NO2 5.0 

O

NO2

 

80 74-76/72-74
15

 

19 C6H5- CH3CH2NO2 3.5 
NO2

 

86 64/64-65
15

 

20 4-O2N-C6H4- CH3CH2NO2 3.0 

NO

O2N

 

83 116/114-115
3
 

21 3-O2N-C6H4- CH3CH2NO2 3.0 

NO2

O2N  

78 55 

22 4-Me-C6H4- CH3CH2NO2 6.5 

NO2

 

83 53-55/55
7
 



 4

23 C6H5- 

CH3(CH2)2N

O2 

 

NO2

 

0 - 

a Reaction conditions: the mixture of aldehydes (5 mmol) and nitroalkanes (5 mmol) was stirred in the presence of 

20 mol % [SFHEA][HSO4] at 110 ℃ under solvent-free conditions. b Isolated yield.  

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 



 5

2. FT-IR, NMR spectral and elemental analysis datas of four novel ILs: 

[SFHEA][HSO4] FT-IR (NaCl) 1491, 878, 773 cm
-1

.
 1

H NMR (400 MHz, D2O): δ=3.43 (t, 2H, 

J=4.0 Hz), 2.76 (t, 2H, J=4.0 Hz); 
13

C NMR (100 MHz, D2O): δ=57.4, 41.1. Anal. Calcd for 

C2H9NO11S3: C, 7.52; H, 2.84; N, 4.39; O, 55.12, S, 30.13; Found: C, 7.47; H, 2.91; N, 4.32; O, 

55.27; S, 30.03. 

[SFHEA][NO3] FT-IR (NaCl) 1504, 881, 764 cm
-1

.
  1

H NMR (400 MHz, D2O): δ=3.93 (t, 2H, 

J=3.6 Hz), 2.99 (t, 2H, J=3.6 Hz); 
13

C NMR (100 MHz, D2O): δ=64.1, 38.6. Anal. Calcd for 

C2H8N2O10S2: C, 8.45; H, 2.84; N, 9.86; O, 56.29, S, 22.56; Found: C, 8.41; H, 2.89; N, 9.78; O, 

56.41; S, 22.51. 

[SFHEA][CF3COO] FT-IR (NaCl) 1504, 883, 771 cm
-1

.
  1

H NMR (400 MHz, D2O): δ=3.87 (t, 

2H, J=4.0 Hz), 2.93 (t, 2H, J=4.0 Hz); 
13

C NMR (100 MHz, D2O): δ=164.5, 63.7, 56.8, 38.3. Anal. 

Calcd for C4H8F3NO9S2: C, 14.33; H, 2.41; F, 17.00; N, 4.18; O, 42.95, S, 19.13; Found: C, 14.27; 

H, 2.47; F, 16.97; N, 4.12; O, 43.09; S, 19.08. 

[SFHEA][CH3SO3] FT-IR (NaCl) 1504, 881, 768 cm
-1

.
  1

H NMR (400 MHz, D2O): δ=3.91 (t, 2H, 

J=4.0 Hz), 2.98 (t, 2H, J=4.0 Hz), 2.43 (s, 3H); 
13

C NMR (100 MHz, D2O): δ=63.9, 57.1, 38.0, 

37.8. Anal. Calcd for C3H11NO10S3: C, 11.36; H, 3.49; N, 4.41; O, 50.42, S, 30.32; Found: C, 

11.31; H, 3.55; N, 4.36; O, 50.53; S, 30.25. 

 

 

 

 

 



 6

3. Representative 
1
H NMR, Mass spectra and elemental analysis of 

products 

4-Methyoxy-trans-β-nitrostyrene (Table 3, entry 8) 

1
H NMR (400 MHz, CDCl3): δ 7.96 (d, 1H, J=2.8 Hz), 7.54-7.50 (m, 3H), 6.95 (d, 2H, J=7.2 Hz), 

3.87 (s, 3H); ESI-MS: m/z= 180 [M+H]; Anal. Calc. for C9H9O3N: C 60.28, H 5.09, O 26.80, N 

7.83. Found: C 60.35, H 5.05, O 26.78, N 7.82. 

3-Methyl-2-(2-nitroethenyl)-thiophene (Table 3, entry 17) 

1
H NMR (400 MHz, CDCl3): δ 8.23 (d, 1H, J=10.8 Hz), 7.45-7.42 (m, 2H), 6.96 (d, 1H, J=4.0 

Hz), 2.42 (s, 3H); ESI-MS: m/z= 170 [M+H]; Anal. Calc. for C7H7O2NS: C 49.52, H 4.25, O 

18.93, S 18.86, N 8.44. Found: C 49.70, H 4.17, O 18.91, S 18.95, N 8.27 . 

1-Nitro-4-[(1E)-2-nitro-1-propen-1-yl]-benzene (Table 3, entry 20)  

1
H NMR (400 MHz, CDCl3): δ 8.33 (d, 2H, J=6.0 Hz), 8.10 (s, 1H), 7.60 (d, 2H, J=6.0 Hz), 2.47 

(s, 3H); ESI-MS: m/z= 209 [M+H]; Anal. Calc. for C9H8O4N2: C 51.86, H 3.91, O 30.76, N 13.47. 

Found: C 51.94, H 3.87, O 30.74, N 13.45. 

1-Nitro-3-[(1E)-2-nitro-1-propen-1-yl]-benzene (Table 3, entry 21)  

1
H NMR (400 MHz, CDCl3): δ 8.54 (s, 1H), 8.45 (s, 1H), 8.34-8.33 (m, 1H), 8.13 (d, 1H, J=6.4 

Hz), 7.65 (t, 1H, J=6.4 Hz), 2.27 (s, 3H); ESI-MS: m/z= 209 [M+H]; Anal. Calc. for C9H8O4N2: C 

51.83, H 3.98, O 30.81, N 13.38. Found: C 51.94, H 3.87, O 30.74, N 13.45. 

 

 

 

 



 7

4. Copies of 
1
H and 

13
C NMR of the novel ionic liquids 

 

 

 

 

 



 8

 

 

 

 

 

 



 9

 

 

 

 

 

 

 

 



 10

 

 

 

 

 

 

 



 11 

5. Copies of 
1
H NMR of the nitrostyrenes in Table 1 

 

 

 

 

 



 12

 

 

 

 

 

 



 13

 

 

 

 
 

 

 



 14

 

 

 

 

 

 

 

 



 15

 

 

 

 

 

 

 

 



 16

 

 

 

 

 

 

 

 



 17

 

 

 

 

 

 



 18

 

 

 

 

 

 



 19

 

 

 

 

 

 



 20

 

 

 

 

 

 

 



 21

 

 

 

 

 

 

 

 



 22

6. References 

(1) Kumar, M. S.; Rajanna, K. C.; Reddy, K. R.; Venkateswarlu, M.; Venkanna, P.    Ultrasonic and 

microwave-assisted synthesis of β-nitro styrenes and nitro phenols with tertiary butyl nitrite 

under acid-free conditions. Synth. Commun. 2013, 43, 2672.  

(2) Ohe, T.; Uemura, S. Palladium(II)-catalyzed michael-type hydroarylation of nitroalkenes using 

aryltins and sodium tetraarylborates. Bulletin of the Chemical Society of Japan 2003, 76, 

1423.  

(3) Dingwall, J. G.; Ehrenfreund, J.; Hall, R. G. Diethoxymethylphosphonites and phosphinates. 

Intermediates for thesynthesis of α,β- and X aminoalkylphosphonous acids. Tetrahedron 

1989, 45, 3787.  

(4) Huitric, A. C.; Kumler, W. D. Spectra  and  Structure  of  Some  New  

2-Phenyl-2-Benzyl- 2-(p-Halobenzy1idene)- and 

2,6-Bis-(p-halobenzy1idene)-cyclohexanones. J. Am. Chem. Soc. 1956, 78, 614.  

(5) Campbell, N.; Anderson, W.; Gilmore, J. The Structure of Aromatic  Compounds. Part II. J. 

Chem. Soc. 1940, 446.  

(6) Alizadeh, A.; Khodaei, M. M.; Eshghi, A. Ambiphilic Dual Activation Role of a Task-Specific 

Ionic Liquid: 2-Hydroxyethylammonium Formate as a Recyclable Promoter and Medium for 

the Green Synthesis of β-Nitrostyrenes. J. Org. Chem. 2010, 75, 8295.  

(7) Worrall, D. E. The Action of Ammonia and Aromatic Amines on 4-Methylnitrostyrene and 

Related Compounds. J. Am. Chem. Soc. 1938, 60, 2841.  

(8) Osborn, A. R.; Schofield, K.; Short, L. N. Studies of the Amino-isoquinolines, -cinnolines, and 

–quinazolines. J. Chem. Soc. 1956, 4191.  

(9) Whalley, W. B. Organic fluoro-compounds. Part VIII. Some indole derivatives. J. Chem. Soc. 



 23

1954, 1651.  

(10) Kamlet, M. J. The Michael Reaction in Non-alkaline Media. I. The Synthesis of 

5-(2-Nitro-1-arylethyl)- barbituric Acids. J. Am. Chem. Soc. 1955, 77, 4896.  

(11) Schales, O.; Graefe, H. A. Arylnitroalkenes: A new group of antibacterial agents. J. Am. 

Chem. Soc. 1952, 74, 4486.  

(12) Ramirez, F. A.; Burger, A. The Reduction of Phenolic β-Nitrostyrenes by Lithium Aluminum 

Hydride. J. Am. Chem. Soc. 1950, 72, 2781.  

(13) Andrey, O.; Alexakis, A.; Bernardinelli, G. Asymmetric Michael Addition of 

α-Hydroxyketones to Nitroolefins Catalyzed by Chiral Diamine. Org. Lett. 2003, 5, 2559.  

(14) King, W. J.; Nord, F. F. Studies in the thiophene series. III. Condensations of 

thiopenealdehydes. J. Org. Chem. 1949, 14, 405.  

(15) Gairaud, C. B.; Lappin, G. R. The synthesis of ω-nitrostyrenes. J. Org. Chem. 1953, 18, 1.  

 


